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01

Sentence Pattern 1: goals 1

SENTENCE = NOUN (that is a subject) (Adverb) STATIVE VERB
SENT=Ns ADV SV

Example: WO hén 1éi.
I [am] pretty tired.

01x

Examples:

AR . W6 hén lei.
FARNE. W0 hén mdng
HKARZE, Wo6 hén gio xing,
KA. W6 hén men.
FKiBJ!  Wo hén tong
Mok k8! 'Ta hén ma fan.
1743 BK! Ni hén tdo yan!

02

Sentence Pattern 2: goals 26
SENTENCE = SENTENCE + ma

Example: Nihénléima?
Are you tired?

02x

Examples:

e £ B AvE? Ta shi Mé Guo rén ma?
LR "5?  Niqu chifan ma?

R R4 "E?  Nimen bu ldi ma?

AP 2 K 4275 ? Tamen zdi jiali ma?
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03
3. SENTENCE = A noun that is a subject, a transitive verb, and a
noun that is an object.
SENT = Ns (ADV) TV N,
Example: Women mai fangzi.
We buy houses.
03x
Example
FMEISHE - Women mai qi ché.
M85 - Tamen xié zi.
ERIZA - L4ao hi chi rou.
04
Sentence Pattern 4: goals 5

A sentence may be formed by a subject plus the word shi plus the name of a
set of things.

SENTENCE = Ns shi Nset

Example: Xigo Hua shi mao.
Little Flower is a cat.

/ J N ’TJZ 7*%5\% o
Example
et 2 Tamen shi shéi?

=" 2 Tamen shildo shi ma?
HAMEA A 2 Tamen shi péng you ma?
ME =K - Tamen dou shi péng you.

04x
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05

Sentence Pattern 5: goals

A predicate can be formed from an adverb and an immmediately following
verb, verb and object, etc..

SENTENCE = NOUNsubject ADVERB PREDICATE
SENT =Ns ADV PRED

Example: Xido Hua ba shi mao.
Little Flower is not a cat.

05x

Examples:

HAVER KT o Women zuo tian ldi le.
A B 48 JE o Tamen yi jing zdi.
FANE B A Women hdi méi zou.
A e 4 &£ T,  Tamen yijing zou le.

06

Sentence Pattern 6: goals 13

Certain nouns preceded by certain stative verbs (which function
adjectively) can take the place of simple nouns in many sentences.

NOUN=SV N
Example: hdo haizi
good child
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06x

=y e gdo fangzi
5T di fangzi
537 gdo chézi
2T ai chézi

A da rén
N xido hdizi
= Bt gao shu
oY) ai shu

07

Sentence Pattern 7: goals 27

A sentence can appear in a “multiple choice” format, i.e., the sentence
includes a verb in its positive form and follows it with that verb in its
negative form, and to answer that question one selects the correct
alternative and repeats the sentence with only that verb present.

SENTENCE = Ns PRED negative PRED

Examples: Tadabuda? Tabuda. or Ta hén da.
Is he big? He is not big. or He is pretty big.
Tamen shi bl shi péng you? Tamen shi péng you. or Tamen bushi péng
you.
Are they friends? They are friends. or They are not friends.

07x

Examples:

R A B R AR Tdamen you méi you shéng qi?
Mo TN AREG B ? Ta shi bushi nide ldo shi?

W Z () RIF R Ta pido (liang) ba pido liang?
AR HE X2 RAER? Nimen zu6 tian zdi ba zai jia?
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08
Sentence Pattern 8: goals 6
The locational zerb zai
A sentence is formed with a subject + a locational verb +
a noun that names a place
Sentence = Ns LV NOUNjoc

08x

Examples:
AP O 2 Shéi zai mén kour?
PR A B AR = 7 N7 zai shéme shi hou ldi ?
EEE, HREZER! Zai wo kan, ni zui pido liang]

09
Sentence Pattern 9: goals

The locations where people or things are found may be formed by
mentioning, e.g., a building, and then adding a determining term such as
"inside." So one says, "the barn behind," rather than "behind the barn."

NOUNIloc

broad location name + inside, outside, etc.

NOUNloc = NOUNIloc + litou/waitou/shangtou/xiatou/di xia,

ete.

Examples: fangzi litou, fangzi waitou, fangzi shangtou,
inside the house, outside the house, on the house,
fangzi xiatou, fangzi di xia,
at the bottom of the house, under the house,
fangzi qiantou, fangzi houtou, ete.
in front of the house, at the back of the house, etc.
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09x

Example

10

Sentence Pattern 10: goals 7

Saying "there are" in Chinese requires mention, or at least implicit
reference to, a place or time, and an affirmation that it has a certain person
or thing. The full form of this statement is as follows:

SENTENCE = zai location you object
(In location there is/are [object or objects])

10x
Examples:
() T maEh —+1E A (Zai) jido shi litou you ér shige rén.
A EARR A Zai shanshang méi you rén.

fZBhhE, BIBECRER T,  Zaisan didn zhong, Mama yi jing hui ldi le.
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Sentence Pattern 11: goals 29, 30, 31
A specifier, a number, a measure word, and a noun can stand in for a simple
noun.
(Either the specifier or the number may be omitted.)
NOUN=SP # MW NOUN
example: zhéisan béi  kaféi (these three cups of coffee)
sadn béi  kafei (three cups of coffee
zheéi béi kafei (this cup of coffee)
11x
Examples: .
& - KX x AT
A wm R £ HRIR
= AF AN AR
s N AR
A HEY +  #X
12
Sentence pattern 12: goals

Indefinite vs. Definite

Some sentences have indefinite reference, e.g., "Fangzi litou you yi xié
rén." (There are some people in the house.)

Once those sentences have drawn attention to the formerly indefinite
individuals, they become identified in everyone's minds as "the
individuals," "these individuals," "those individuals," etc.

Example: Fangzilitou you yi xié rén. Néi xié rén dou shi péng you. (In the
house there are some people. Those people are all friends.)

Su shé waitou you jige rén. Néi xié rén dou shi xué shéeng.
(Outside the dormitory there were several people. Those people are all
students.)
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12x
Example
13
Sentence Pattern 13: goals 4
A sentence can be formed with a subject plus an intransitive verb.
Sentence = Ns ITV
Example: Lao Shiming tian 1ai. (Teacher is coming tomorrow.)
13x
Examples:
EA*o W ba qa.
WRIRIE B A R Meimei hdi méi you ldi ne.
HAM & 8, Wo men zdu ba.
REELye! Bu ydo ludn pdo.
14
Sentence Pattern 14: goals 10

A noun expression can be formed by a modifying phrase or clause linked to
the original (unmodified) noun using de.

NOUN = modifier de NOUN

Examples: quderén
lai de rén
bld qu de rén
méi you lai de rén
zub tian l1ai de rén
bu zai de rén

(people who go)

(people who came)

(people who are not going)
(people who did not come)
(people who came yesterday)
(people who are not present)
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14x
Examples:
k69 /\45’4 %o Bu qude rén hén duo.
FARMERAR B R & 09 A W6 hén hudi yi na xié ba qude rén.
RE G AR R? Bua qude rén zai® nar?
BH AR EREN AT E?  Md Guang zdi na xié ba qude rén i mian ma?
15
Sentence Pattern 15: goals 15

A predicate can be composed of a locative verb, the name of a location, and
a predicate indicating what is done there.

PRED =LV N PRED
example: zaita sht guan nian shua

study at the library
15x
Examples
AP 7 AR KAZ "G o Tamen chdng chdng zai jiali chang gé.
R4 7r %—It THEALRE R Nimen b yao zdi ta sha gudnli shui jido
BAE_EBRER=ZFERT, W6 zai ér ling ling san nidn hui ldi le.

Rule: Set the stage and only then tell the action.

Note: Chinese word order is strongly dominated by the sequence of events
in the real world. For instance, causes are mentioned before effects. Where
something occurs has to be mentioned before the action moves onto that
stage. In English, to the contrary, the information about time and place is
frequently put into a tag ending such as, "in 1948," "on the elevator," etc.
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16
Sentence Pattern 16: goals
Questions and sentences about indefinite items can be formed by using X-
words.
na — na (that— "which" or "something")
néi— néi (that — "which" or "something")

16x

Examples:
WRE A nd guod rén  people of which country
R R nd tian which day (when)
ML nd wei which person of status (which honorable lady/gentleman)
oA na xié which several items

17
Sentence Pattern 17: goals 3 & 23

A predicate can be formed by placing a modifying or auxillary verb before
the main verb.

PRED = AUXYV PRED

These auxillary verbs have similar meanings. f¢ means to be physically
able to do something and/or that environmental factors permit doing
something. & means to have learned how to do something, and 7]l means
"permissible," although it is often used to mean "can" in the sense that a
possibility for some action or result exists.

example Rén huilshud huad (People know how to talk)
Rén bu néng fei-. (Humans do not have the physical ability to fly.)
Nimen bu ké yi zai zhér chi fan. (You may not eat here.)
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17x
Examples:
g3t B 3% Ta hui shuo Zhong Gué hua'.
T, REART, Ta ldo le, bu néng zou lu le.
IRIBARAE AT T LAY o Ni zhéi yang zuo shi bu ké yide.

18
Sentence Pattern 18: goals (8) 11
A predicate can be composed of a locative verb, the name of a location, and
a predicate indicating what is done there, but a predicate can also be
composed of one predicate that indicates something like going somewhere
in order to do something, doing something in order to be able to do
something else, etc. In English we generally use the word "to" as a link
between the first and second predicate, e.g., "He bought a saw to cut the
wood," or, "She went to London to see the Queen." In Chinese, however,
there typically is no word corresponding to that "to," and the two clauses
are simply jammed together.
PRED = PRED, (to) PREDy
Example hui jia xitxi
go home to rest

18x
Examples:
K E| WAL H W6 dao chéng Ii qit mdi.
o B 3K 35 K 30, Ta dao chia chang qu wan.

A EHREEAE “ BE” v, Nimen ddo dian ying yuan qu kan "Ri Cha" ba.
B A B A, Ta mdi sha song géi ta mama.
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19

Sentence Pattern 19: goals 36
Anywhere a noun can be used in a sentence it can be replaced by an
exclusive or construction (either X or else Y).

NOUN = NOUN,, héaishi NOUNy

Example: Xido wawa shinan haizi haishi nd haizi?
Is the baby a boy or a girl?
19x
Examples:
H, ST AR 69 2% B 3E AR 69 KB A ? 'Ta shi nide ldo shi hdishi nide nli péng you?
RAORAACIEN E T RN? Ni jin tidn xidng chi ji rou hdishi nia rou?
A Fn i AME AR R EE R F A, WO bl zhi ddo nage rén shi

lao xiansheng hai shi nidan qing rén.

20

Sentence pattern 20 goals

A sentence can be formed using the special verb compound zhu zai (which
means something close to the English expression “resides at”).

SENTENCE = Ns Zhil Zéi N]ocation

Example: Neige xuésheng bua zhui zai st she.
That student does not reside in the dormitory.

20x

Examples:

IRAE 2R 5T ?
BAEALTE &0
E LT B
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21

Sentence Pattern 21: goals 37
COVERBS:

A coverb is can be a special kind of verb that cooperates with the verb that
follows it and acts to give additional information about that verb. Often
coverbs cannot be used alone or are rarely used alone. One such coverb,
which otherwise appears in resultative verb compounds, is 1i. As an active
verb it means "to separate from." As a coverb, it means "is separated from"
and requires a following stative verb or something indicating a length in
space or time and that functions like a stative verb in such sentences.

PRED = COVERB NOUNcovern PRED

example: Ta sht guan li xué xiao bu yuan.
The library is separated from the school not far.

21x

Examples:

2l B b WAREE . Jit Jin Shan li Béi Jing hén yudn.
REEMARRE R W& jia Ii ni ji@ bu yudn.
KEEEE EARE Shui Xing Ii Tt Xing hén yudn.
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22

Sentence Pattern 22: goals 56

In the development of the Chinese language its speakers felt a need to flag
certain sentences as indicating that there had been a change in the status
of events. In English we sometimes do this by prefixing a sentence with the
phrase, "It came to pass that..." By sometime around the year 1200,
Chinese speakers were doing much the same thing by appending the word
"1ai" (to come) to sentences. In somewhat the same way that the English
phrase, "God be with you" tranformed into "goodbye," the terminal "1ai"
became "le," also losing its tone in the process.

SENTENCE = SENTENCE le

Example: Mama 1aile. (There's been a change. Mom is coming!) or
(There's been a new development. Mom is here!)

Example: Baba bu laile. (There's been a change. Dad is not coming after
all.)

Example: Wawa chi fan le. (Baby has started eating solid food!) (Some" a
change is "the first time ever.")

22X

Examples:

W F3TR 4 Fo Ta yong shou dd kai xiang zi.

e ) 2 x5 A K E 01 7. Ta yong wang yudn jing kan Hud Xing de yun hé.
R R R i = Ta ma-ma mdi ji dan zuo dan gao.

i R PR ET R S Jigjie dao Dé Guo qu lia xué.
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23

Pattern 23: goals 32
Numbers are formed in a very orderly way in Chinese. In high school math
we learn to write numbers in the following format:
d (1000) +e (100) +f(10) + g
But we say “fifty” instead of “five tens.” Chinese follows the basic
mathematical schema shown above:
¢ (10,000) +d (1,000) + e (100) +f (10) + g
c(wan) +d(qian) + e(bai)+ f(shi)+g
So, for example, 17,345 is read:
yiwan qiqian san bai si shi wu.

23X
Examples:
—% XA+ yi wan ling wu shi 10050
=& XA san shi wan ling wi kudi gian $30,005
—B—TX yi bdi yi shi tian 115 days

—FBE R _gR= yi wan ling ér bai ling san 10,0203
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24

Sentence Pattern 24: goals
Chinese uses a logical order or a sentence order that follows the time
sequence of events in almost every situation. One such case is the sentence
pattern that is used to indicate the actuality and/or the future potentiality
to achieve a result. Many of the instances of this pattern are figurative and
may seem abstract to English speakers. So it is important to start with an
example that may make more sense to the beginning learner of the Chinese
language:
VERB = VERB + Resultative VERB
Example: Tamen chi bao.

They eat [and so] get full.
The negative form of this sentence, indicating that they did not get enough
to eat is:
Example: Tamen méi (you) chi bao.

They have not gotten full.

24x

Examples:
WEEZE T . Ta shui zhdo le.
HAVZ R TR Ta men hdi méi chi wan ne.
RARAE. Wo méi you kan dong.

ARESGIIET o Na zhi mao pdo dido le.
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21a
Sentence Pattern 2la: goals 37

As mentioned in Pattern 20, the coverb li can also be used with the
designation of a length of space or time, and that expression functions like
a stative verb in such sentences.

PRED = COVERB NOUNc¢overs PRED

Example: Ta sht guan 1i zhér san gong 1i.
The library is three kilometers from here.

21ax

Examples:
E&LEEIt5ESE - Jid Jmn Shan li B&i JIng yuan.
FEEEE AL AE - Tian Jin li B&i Jing bu yudn.

25

Sentence Pattern 25

Distances between different places can be compared by making an
sentence that follows this pattern:

SENT=(VIiW)bi(X1iY)PRED
Example: YIng Gud 1li Fa Gud bi Aiérlan 11 Dé Gud jin.

The distance from England to France is (nearer =) less than the
distance from Ireland to Germany.
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25x
Examples:
ESILEERLGEEERIE - Jiu Jin Shan li Ba Li bi Lun Dun Ii Lud M3 yuan.
KEBTELLNEESERE - Shui Xing Ii TU Xing bi Hud Xing | i Jin Xing-
yuan.

26
Sentence Pattern 26 goals 54
Chinese regularly proceeds from the largest unit to to the least significant
unit, so in giving dates, the year is mentioned first, followed by the month,
and then the date. In writing one uses ri for the date, but in speaking one
usually says hao.
nian yué ri
nian yué hao
Example: ér ling yi san nian si yué wu ri
2013 April 5
26X

Examples:

wrE B2 =H"11t5E - Tade shéng ri shi san yue er shi qi hao.
fthEAE+—BASER o T a ming nian shi yi yue wii hao hui guo .
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27
Sentence Pattern 27 goals 16

As well as indicating that a given location has certain people or things in it,
in Chinese one can also show that a given location has certain people or

things in it doing something.
SENTENCE = (zai) LOCATION y6u NOUNsubject PREDICATE
SENT = (Zéi) Nlocation ybu NS PRED

Example: (Zai) td sha gudn waitou ydu rén ti zu qid.
Outside the library there are people playing soccer.

27X

Examples:

EBZEBAITEE - Zai su she Ii you rén da pai.
EEEEEZEATZE - Zai th sha guan litou méi ydu rén bl shui jiao.
BXREBEAEBSERE - Bai tian méi you rén zai su sheli shui jiao.

28
Sentence pattern 28 goals
A sentence can be formed with a coverb that introduces a point of origin
and a verb that indicates whether the subject’s motion is toward the
speaker or not.
SENTENCE = Subject COVERB NOUNorigin VERB
SENT = Ns CV Norgin VERB

Example: T4 cong Mei Gud 1ai.
S/he comes from America.
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28x
Examples:

PSRBT - Tamen cong Han Guo lai le.
HEARFHERER - WO ming tian bu cong jai Ii lai.
HEARKEFE I RHIZKER - WS ming tian cong wd péng you de jai If lai.

29
Sentence pattern 29 goals 41 & 43

A sentence can be formed with a coverb that introduces a point of origin
and a verb that indicates whether the subject’s motion is toward the
speaker or not, which is then followed by the action that the subject
performs after arrival.

SENTENCE = Subject COVERB NOUNorigin VERB (to) PREDICATE
SENT = N5 CV Norgin VERB (to) PRED
Example: Ta cong Méei Gud 1ai nian sha.
S/he comes from America to study.
29x

Examples:

SRR Lt RERE TS - Tamen méi tian zao shang cong jiali lai mai dou
jiang.

BMABEENRTBSER LR - Youde rén zhi jie cong su she lai shang ke.
S—EARBCHORESH—EE - M&i yige rén cong zi jide kdu dai li na cha
yi kuai gian.
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30

Sentence Pattern 30 goals

In Chinese, some verbs make function as transitive verbs part of the time
and as passive verbs the rest of the time. One example is jido, which can
mean “to call,” “to yell,” or “to order,” but it can also mean, “to be called,”
“to be named.”

Example: W0 jido Kong An Guo.
I called out to Kong An Gud.

or
I am called Kong An Gud.

30x

Examples:
FOFEZE - WO jiao Wang Xiao Xian.

AIREB K - Qing jiao ni baba cha | ai.
HIEES o RIUAEERZE ? WO jiao Ma ST Liang. Ni jiao shéme ming zi?

31
Sentence Pattern 31 goals
The Chinese language mentions causes before effects and tools before the
effects they cause. One instance of this general rule is to mention modes of
conveyance before telling of the journey.
SENTENCE = Ngsupject COVERB NOUN¢overs PREDICATE
SENT = Ns CV Nev PRED

Example: Women zuo ché qu.
We go by car.
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31x

Examples:

{RAEEEIS ? Ni zud ché qu ma?

BAELMRME - WO bl yao zud féi jT qu.

fhFTE M NEEZK - Ta da suan zud hud ché lai.
RAFEELARBIhEZIE 2 Ni bl yuanyi zud chuan dao Zhong Gubd qu
ma?

32

Pattern 32 goals 41

In Chinese sentences about going to someplace are parallel in structure to
sentences about coming from someplace. (See Pattern 27.)

SENTENCE = NOUNsubject dé,o NOUNdestina,tion VERB
SENT = Ns daO Ndest,ina,tjon VERB
Examples: Tamen dao xué xiao lai.

They come to school.

Tamen dao td shid guan qu.
They go to the library.

32X

Examples:

{REIM5E2Z ? Ni dao nar qu?
FHEIAFERAEEL - WO dao Da Hua fan guan qu.
IRNZFELERESREKT  Nide haizi yi jing dao zher lai le.
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33
Pattern 33 goals 43
SENTENCE = NOUNsubject A0 NOUNgestination VERB PREDICATE
SENT = Ns dao Ngestination VERB PRED
Examples: Tamen dao xué xido lai nian shia
They come to school to study.

Tamen dao tu sht guan qu jié sha.
They go to the library to borrow books.

33X

Examples:

{REIM5EZNZER ? NI dao nar qu chr fan?
B EIAFEEREEENZER - WO dao Da Hua fan guan qu chr fan.
RARFELRRERKEET - Nide haizi yi jing dao zher lai mai sha le.

34
Sentence Pattern 34 goals 56
Chinese uses a weakened form of a resultative verb, lido, to clarify
conversations about whether some expected action has actually been done.

As a verb ending, lido is pronounced le.

Example: A: Niyoumeéiydu chiyao? B: Chile.
A: Did you take your medicine? B: Idid [take it].
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34x

Examples *

HELSHAIZER ' IRIZTEF ?
HERETIE @ Rk ?

RABEER! BHE ?HELLLTET !
hELKIZTEE - @411 @911
WBRERIRT » {RASKNEDS ? 989
HEEKLERET - @421 @921
RERT | EERE? 979

35
Sentence Pattern 35 goals

Coordinated use of le. The verb le flags the fact that someone did do
something, and so a change must have occurred. The sentence le flags the
fact that a change has occurred, so in cases where a verb le is used it is
frequently appropriate to add a sentence le. When an intransitive verb
occurs at the end of a sentence, the two le merge into one.

SENTENCE = NOUNsubject TRANSITIVE VERB le NOUNopject 1€
N: TV le Nole

Example: W0 chile yao le
I did take the medicine. (I took the medicine.)
Lao ban laile!
The boss is here!

35x

Example
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36

Sentence Pattern 36 goals 45 145
Both the point of origin and the destination can be mentioned in the same
sentence. As with other cases, the Chinese language always follows the
natural order, so the origin gets mentioned before the destination.
SENTENCE = NOUNsubject C()ng NOUNorigin dé,o NOUNdest,j_na,tion léJl / q_tl
SENT = Ns cOng Norigin d40 Naestination 1&i /qU
Example: Mama cong xué xiao dao yin hang qu.

Mama went from the school to the bank.

36X

Examples:

hitEEEIPEE - @141 @641
RIEMEAZIMEER - @151 @651
HEMEPERERE - @161 @661
HEMEREIXRREE - @171 @671
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37
Sentence Pattern 37 goals 46

An example of the narrative structure embedded in many Chinese
sentences is the mention of an action done in preparation for another
action followed by the intended action.

The verb £ means to head oneself in a certain direction. It must be
followed by a word meaning to walk, to run, to turn, etc.

SENTENCE = wang NOUNgirection INTRANSITIVE VERB
SENT = Wé,ng Ndirectjon ITV

Example: Wang dong zou.
(Lit.) Head yourself toward the east and then walk.
wang x1 péo.
(Lit.) Head yourself toward the west and then run.

37X

Examples:

—HBHIRIE - @191 @691
ZFEIE - @201 @701
FRE - @211 @711
Tt @221 @721
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38
Sentence Pattern 38 goals

Trigger events with le. When the trigger event shall have occurred (le) it
will then (Jitt ) be appropriate to do the next thing.

SENTENCE = NOUNgupjecs TRANSITIVE VERB 1€ NOUNopject, NOUNgupject jith
PREDICATE. (Ifthe same subject is used in both clauses, mention it only
once.)

SENT =Ns1 TVie No (Ns2)jiu PRED

Example: Ni dao le yin hang, jiu wang dong guai.
When you do get to the bank then turn east.
Dao le xué xiao, ta jiu dao litouqu le.
When he got to school, he then went inside.

38x

Example
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39
Sentence Pattern 39 goals

Narrative structure: A frequent device used in conveying directions is to
indicate what is done prior (xian ) to doing something else, and then
indicating what is done thereafter (ran hou ). This format works for
future actions, plans, etc.

SENTENCE = NOUNsubject 1 Xian PREDICATE, ran hou (NOUNsupject 2 )
PREDICATE

SENT = Ns; xian PRED, ran hou (N2 ) PRED

Example: Ni xidn dao yin hang qu,ran hou wang xi guai.

First go to the bank, and after that turn west.

39x

Examples:
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40
Sentence Pattern 40 goals 39

Two verbs can be used in series to communicate ideas like “ugly” (difficult
to look at).

In English it is necessary to separate two predicates with "to", but in
Chinese there is no such necessary separator. Expressions like "difficult to

look at" can mean "ugly," so "difficult to read" is usually expressed by using
#: instead of ¥t F&.

PREDICATE = PREDICATE; [to] PREDICATEz
PRED = PRED; [to] PREDz

Example: nan kan
difficult to look at

40x

Example
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41

Sentence Pattern 41 goals 48

One coverb is so often used that it is treated here as forming a sentence
pattern in its own right. That coverb is “bi3,” which means “as compared
to.” The subject is compared to some standard known to all parties in the
conversation.

SENTENCE = NOUNgubject 0i& NOUNstandara PREDICATE
SENT = Ns bi3 Ngtandara PREDICATE

Example: Tal bi3 Yaod Ming2 gaol!
He is taller than Yao Ming!

41x

Examples:

QL I ERFIREE -
RELBEBBAI o @271 @771
BLLthMESZ - @281 @781

42

Sentence Pattern 42 goals 17

Predicates involving Resultative Verbs (pattern 24) can be expanded to
indicate the potentiality, or lack of it, to achieve the result.

SENTENCE = NOUNsubject VERB de2/bu4 RESULTATIVE VERB
SENT = N, V de2/bu4 RV

Example: Tal chil bu4 bao3. Wo3 chil de2 baod.
He can’t eat to satiety. I can get full.



BLDS Patterns 31

42x
Examples:
BZBAESRIE -
43
Sentence Pattern 43 goals 25

Narrative structure is often aided by expressions such as “the man who
came to dinner.” If both parties is a discussion know some such fact about
a third party, but do not know that person’s name, the commonly held
information can substitute for a name.

SENTENCE = NOUNsubject shi (PREDICATE de NOUN)
SENT = N shi (PRED de N)

or

SENTENCE = (PREDICATE de NOUN) PREDICATE
SENT = (PRED de N) PRED

Examples:

T4 yiding shi zub tian laide néige rén.

He is surely that person who came yesterday.

Zuo tian laide néige rén maile XIn qi cheé le.

Now that person who came yesterday has purchased a new automobile.
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43X

Examples:

HEF LERrSE

44

Sentence Pattern 44

One special kind of predicate modifier comes after the main verb because it
follows the general pattern whereby the natural order of events is
mirrored by sentence structure. If, for instance, one speaks and thereby
get a good result, that establish the fact that one speaks well. The same
statement can record past events or indicate future potentialities. The
positive form of these sentences uses a main verb followed by dé and then
by a complement that expresses the capacity that has been demonstrated,
so these modifiers are called “adverbs of capacity.”

PREDICATE = INTRANSITIVE VERB dé MODIFIER
PRED =ITV dé MOD

Examples: Ta shuo dé hao.
He speaks well.
Tamen pao dé kuai.
They run fast.

44x

Examples:

EANESRIE -
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45
Sentence Pattern 45 goals 48

Simply stating that someone sings well may not tell other people very
much. Others frequently want to know that someone sings well in
comparison to some well-known singer. The basic sentence pattern
involved is: Ns V de2 PRED. That sequence does not change, but it is
supplemented by putting in a coverb, bis3:

SENTENCE = NOUNsubject bI NOUNsta,nda,pd PREDICATE
SENT = Ns bi Nsta,nda,rd PRED

Example: Tamen bi ma pao dé kuai
They run faster than horses.

45X

Examples:
b FHERFEF -

Witk Miriam MakebalE5#F - @181 @681
fbLL BB EEREI B E - @499@999
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46

Sentence Pattern 46 goals 99

The so-called “shi...de” pattern is another case wherein something already
mentioned or obvious from context is habitually omitted. For instance, in a
story about the Marx brothers or the Van Trapp family of singers, “Tamen
shi hén you mingde rén,” has a redundant element because everyone in the
conversation knows full well that the Marx brothers are humans, and so
are the members of the Van Trapp family. But this sentence pattern has
two special functions: (1) It is frequently used to correct misinformation
voiced by someone else. (2) Its use generally indicates, since somebody can
be characterized as, e.g., a graduate of some university, that event must
have already happened. So it gives some of the same information that
putting a sentence into past tense does in the English language.

This structure has many practical uses. It can indicate a kind of passive
idea when, e.g., a book is described as one that that Hemingway wrote, it
can be used to give prominence in a sentence to the element that
immediately follows /&, and it can give essentially the same information as
is given in English by putting the main verb of a sentence in past tense.

SENTENCE = NOUNsubject shi PREDICATE de.
SENT = N5 shi PRED de.

Example: WO bu shi gian tian laide, wo shi zuo tian 1ai de.
I did not come the day before yesterday, I came yesterday.
T4 shi da xué bi yéde.
She is a college graduate. (She has graduated from college.)

46X

Examples:
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47
Pattern 47 (see Pattern 21) goals 24
One of the frequently used coverbs is géi. Literally it means “to give
somebody something as a present,” or just “to give,” but it can also be used
when one is doing something for somebody as a favor.
SENTENCE = NOUNsubject géi NOUNindiPect object NOUNdJ’.Pect object
SENT = Ns géi Nido Nao
Example: Mama géi wo x1 yifu.

Mama washed (my) clothes for me.
47x

Examples:
BEEMMIERE -

48

Sentence Pattern 48

A sentence involving an adverb of capacity along with a transitive verb and
a direct object takes the form

SENTENCE = NOUNsubject TRANSITIVE VERB NOUNdirect object
TRANSITIVE VERB dé PREDICATE
SENT =Ns TV No TV dé PRED

Example: Tamen xié zi xié dé kuai.
They write quickly.
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48x

Example

49

Sentence Pattern 49 goals 24
Another coverb that is frequently used to make sentences is dui4, which
means “to direct oneself toward,” to address (someone).” ¥} means to
direct oneself toward some object to perform some action, e.g., "She spoke
to me," or "They were not very good to their visitors."

SENTENCE = NOUNsgubject COVERB NOUNpject PREDICATE

SENT = Ns COVERB N, PRED

Example: Jing3 cha’ dui4 da4 jial shuol: Qing3 mad shang4 hui? jial
qu4!

The policeman said to everyone: Please return home
immediately!

49x

Example
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50
Sentence Pattern 50 goals
A sentence can compare the capabilities of two subjects. The second subject
mentioned is generally the better known of the two because it can then

serve as a standard for comparison.

SENTENCE = NOUNgubject ITV dé bl NOUN¢gtandara RESULT
SENT = Ns ITV dé bi Ngtandara RESULT

Example: Tal pao3d ded bid wo3 kuai4.
She runs faster than I do.

50x

Example



